0000000 B (6)

goood

kotaro@math.titech.ac. jp
http://www.math.titech.ac.jp/ kotaro/class/2015/calc2/

2016.01.08


http://www.math.titech.ac.jp/~kotaro/class/2015/calc2/

good

o 0D 10 1M400LDOIDLODO

obobg booboobbooboobobooooo

gbobod oobooboooobooboobobooboooo
ooooooooogg
gbboo4b000b0000b00anoon
oDopbooooooooooor?OoOOO?
ugbooobooboooboobooobaoaboo
oboooooooooooobooboobooobogng

Y


http://www.math.titech.ac.jp/~kotaro/class/2015/calc2/schedule.pdf
http://www.math.titech.ac.jp/~kotaro/class/2015/20151222.pdf
http://www.math.titech.ac.jp/~kotaro/class/2015/syllabus.pdf

good

e 1020000000000 00OO0OODOOOOOODOPROGODO
O000000o0ooOo00ooooooO0oooooopoooooo
ggoooobboobbooobbbobobbboddoooooon
gogooooooooo
000 http://www2.gakumu.titech.ac.jp/kyoumu/kaikaku/
doc/2015prog. pdf

e lU20000000DUIDOODODOUDLDDI40D0O0OO0OODOODOO
ooooooobooboooooo

goog

G )1


http://www2.gakumu.titech.ac.jp/kyoumu/kaikaku/doc/2015prog.pdf
http://www2.gakumu.titech.ac.jp/kyoumu/kaikaku/doc/2015prog.pdf
http://www.math.titech.ac.jp/~kotaro/class/2015/calc2/schedule.pdf

o—0oon

Q U00000D0D0OC0ODO0O p3200031300A#000
c#0000000D0O0CDOOOOOO?
A:0Ooo0ooooooog
oboobooooooooooooooo
ooooooooobobobooboobooo
(20150 120 2200000000)

Ry



god

gbob0o boobooboooboboooobogo
oboooooooooooogo
uboobbooboobboobdadg

obobo ooooooooogo
oooooo
ooo?

ooob oooood

gbobo obobooooooooooooooooooooooonoo
oboooooo

G 51



good

Q O00000opooooo0o0oomWooo "0ooo" oo
oboooooooogoog

A 0oboboobobobobobobobob
oooboooboobooooboogr
oo0ooOoOooOoOo0obOoobOboOooooooo?

Q 00000000 =0000 000000000007
()00000000000 (2000000000 (3)0
0000000000

A: (000000000000 ODDOO0OOOOOoOOv?

G 61



good

2

gbooooboobooooo
A 00DOoOoDoOoOoooo

Q O00000OO00bOO00oDOoOobOoOoOobOooboOooon

oooon

A 00pDoOoooooobobogooooo

‘P‘Q HP:QH notQ‘notPH notQ:>notP‘

g

O

0

O

g

0

U
U
g

U
O
O

g
g
0

O
g
O

U
U
g

g
g
0

OMP=QO0O0(nhot P)orQUO OO

2016.01.08

7/17



0o 3.5

Theorem (O O 3.5)
OO0 fOz=e0000000 C*-00000

A: f(z)0 z=e000000000000000000OO
00f'(a)=00000

B: f(a) #0 0000 f(z)0 2=¢00000000000
0oo

C: f'la)=0, f"(a)>000000000 f(z) O z=a00
uoooon

T



good

Q: 003500000A COOODDOOCODOOOOOOOD
ooboboobboooobooo BOoooooooboOoooo
ugbboooboooboooboaboo

A BOOODOOOOOO

Q00350 BO COODOOODOOOUODOOUODOOOD
ooooog?

A:BO AODUOUODOOO0AOODODOOODOODOOODODO
oo0ooOooooOooooOobocoobpooi1os500d
oooooo

G )1



good

Q00350 BO COOUOODODDOCODOOOOOOODODO
ooooooooooooo?

A:0Dgbobooboboobobobooboboobobobo
gbobooboooooooooooooooooooogo

Q: Taylor 0000 n=100
Ro(h
fla+h)— f(a) = f'(a)h+ Ra(h), il}n&%zODDDD
—)

0000O0m (00000 f(e) D000)#£00000
Ry(h) 0DDOOODOOODODOOODOOODODOOODOO (B)
flla)#0= f0 «0000000000D00DO0O0OOO
goooooooooooooon

A:-00DO0OO0OoO0OoDoOoooo

D D)L



2000000000 (1)

Theorem (O O 3.11)
R2000 DOOOOOO C>-000 f0O (e,b) e DOOOOOODO

oo
of

a—$(a,b):0 0ogd —f(a,b):O

oooooo

Corollary (DD O0O)
R2000 DOOOOOO C*-000 f000 (e,) e DOODODO

of of
(S, oan) # 0.0

O0000000f0O (e,)D0000OOCODO

D )L



2000000000 (2)
Theorem (O O 3.12)
R2000 DOOOOODO C®-000 f0 (a,b) € DO0OO

of _ of _
%(a,b)—() oo a—y(a,b)—O

oboooboboobooooooo
0’ f

8? 9’ ? 0?
A= 82( b)a—yJ;(a,b)—( f(a,b)) A= aJ;(ab)

oooon

e A>000 A>0000 f(z,y) O (z
e A>000 A<0000 f(z,y) O (z

e A<000O f(z,y) O (z,y) = (a,b)

,y)=(e,b) 00000DOOO
,y)=(e,b) 00000DOODO
00o00oOoOoooon

v

ooooo

2016.01.08 12 /17



2000000000 (3)
00 3120000000000 O00O00O000O00O0O 3.80

of _ of
%(a, b) =0 oo Dy —(a,b) =
=  fla+hb+k)— f(a,b) = % (Ah? + 2Bhk + Ck?) + Rs(h, k),

A= fmm(aa b), = fxy(a7 b)’ C:= fyy(a’ b)

TR



00 3.13

Lemma (O O 3.13)
hO EODOO 200

o(h, k) := AR> 4+ 2Bhk + Ck* (A, B,CO000O) ()

ooog

e 0DODO (hk)# (0,00 0000 o(h, k) >000000000000
00 A>000 AC—-B?2>00000

e 000 (hk)# (0,00 0000 p(h,k)<0ODOOOODOODOOO
00 A<000 AC—-B?2>00000

e p10000000ODOODDOOOOOOOODDOOO
AC-B2<0000000000

e J00OOAC-B?=0000000¢0000000000¢=0
000000 (hk)#£(0,00000000

v

ooooo 2016.01.08 14 /17



003130004

¢(h,k) = Ah? + 2Bhk + Ck*

A(h+ Br)? 4 40582 (A #0)
= C (k+ Bn)® + AcB22 (C #0)
2Bhk (A=C=0)

Q: (hk) 02000 Q(hk) 0000000000 O0DO00
O0AC-B*000 ADDDOOOODDOOOOO AO
0000 CcO000000000000000000000
000

A:000000AC-B?’>000000A40000 cO0O
0000000000000000 AC > B?>00

D 151



00 (00 111-10)

gooooogooooog
fay) =a° —ay +y°

o
L T T i v
Y Ry i
LT 7
i
1AL 77
LITT 7775
0.0

ooooo

-05

2016.01.08 16 / 17



00 (00 H-12)
goooooooooon

3

flay) =2 +2%° +y* —2® +y

D 1) 1



	おしらせ
	講義
	ご意見から
	質問から

